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NEW QUESTION 1
In DynamoDB, if you create a table and request 10 units of write capacity and 200 units of read capacity of provisioned throughput, how much would you be
charged in US East (Northern Virginia) Region?

A. $0.05 per hour
B. $0.10 per hour
C. $0.03 per hour
D. $0.15 per hour

Answer: A

Explanation:

To understand pricing in DynamoDB, consider the following example. If you create a table and request 10 units of write capacity and 200 units of read capacity of
provisioned throughput, you would be charged:

$0.01 + (4 x $0.01) = $0.05 per hour

Reference: http://aws.amazon.com/dynamodb/pricing/

NEW QUESTION 2
AWS Elastic Load Balancer supports SSL termination.

A. Tru

B. For specific availability zones only.
C. False

D. Tru

E. For specific regions only

F. Tru

G. For all regions

Answer: D

Explanation:

You can configure your load balancer in ELB (Elastic Load Balancing) to use a SSL certificate in order to improve your system security.The load balancer uses the
certificate to terminate and then decrypt requests before sending them to the back-end instances. Elastic Load Balancing uses AWS Identity and Access
Management (IAM) to upload your certificate to your load balancer.

Reference: http://docs.aws.amazon.com/ElasticLoadBalancing/latest/DeveloperGuide/US_SettingUpLoadBalancerH TTPS.html

NEW QUESTION 3
In DynamoDB, to get a detailed listing of secondary indexes on a table, you can use the action.

A. DescribeTable
B. BatchGetltem
C. Getltem

D. TableName

Answer: A

Explanation:

In DynamoDB, DescribeTable returns information about the table, including the current status ofthe table, when it was created, the primary key schema, and any
indexes on the table.

Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/Secondarylndexes.htmi

NEW QUESTION 4
is a task coordination and state management service for cloud applications.

A. Amazon SES
B. Amazon SWF
C. Amazon FPS
D. Amazon SNS

Answer: B

Explanation:

Amazon Simple Workflow (Amazon SWF) is a task coordination and state management service for cloud applications. With Amazon SWF, you can stop writing
complex glue-code and state machinery and invest more in the business logic that makes your applications unique.

Reference: http://aws.amazon.com/swf/

NEW QUESTION 5

A user is planning to create a structured database in the cloud. Which of the below mentioned AWS offerings help the user achieve the goal?
A. AWS DynamoDB

B. AWS RDS

C. AWS Simp|eDB

D. AWS RSD

Answer: B
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Explanation:

AWS RDS is a managed database server offered by AWS, which makes it easy to set up, operate, and scale a relational database or structured data in cloud.

Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html

NEW QUESTION 6
Which one of the following data types does Amazon DynamoDB not support?

A. Arrays
B. String
C. Binary
D. Number Set

Answer: A
Explanation:
Amazon DynamoDB supports the following data types: Scalar data types (like Number, String, and Binary)

Multi-valued types (like String Set, Number Set, and Binary Set). Reference:
http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/DataModel.html#DataModel.Data Types

NEW QUESTION 7

A user plans to use RDS as a managed DB platform. Which of the below mentioned features is not supported by RDS?

A. Automated backup

B. Automated scaling to manage a higher load
C. Automated failure detection and recovery
D. Automated software patching

Answer: B

Explanation:

AWS RDS provides a managed DB platform, which offers features, such as automated backup, patch management, automated failure detection and recovery. The

scaling is not automated and the user needs to plan it with a few clicks.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html

NEW QUESTION 8
What kind of service is provided by AWS DynamoDB?

A. Relational Database
B. NoSQL Database

C. Dynamic Database
D. Document Database

Answer: B

Explanation:

DynamoDB is a fast, fully managed NoSQL database service. Reference: http://aws.amazon.com/dynamodb/
NEW QUESTION 9

Can a user get a notification of each instance start / terminate configured with Auto Scaling?

A. Yes, always

B. No

C. Yes, if configured with the Auto Scaling group

D. Yes, if configured with the Launch Config

Answer: C

Explanation:

The user can get notifications using SNS if he has configured the notifications while creating the Auto Scaling group.

Reference: http://docs.aws.amazon.com/AutoScaling/latest/DeveloperGuide/GettingStarted Tutorial.html
NEW QUESTION 10

In regard to DynamoDB, can | delete local secondary indexes?

A. Yes, if it is a primary hash key index

B. No

C. Yes, if it is a local secondary indexes

D. Yes, if it is a Global secondary indexes

Answer: B

Explanation:

In DynamoDB, an index cannot be modified once it is created. Reference: http://aws.amazon.com/dynamodb/faqs/#security_anchor

NEW QUESTION 10
How long are the messages kept on an SQS queue by default?
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A. If a message is not read, it is never deleted
B. 2 weeks

C. 1day

D. 4 days

Answer: D

Explanation:

The SQS message retention period is configurable and can be set anywhere from 1 minute to 2 weeks. The default is 4 days and once the message retention limit
is reached your messages will be automatically deleted. The option for longer message retention provides greater filexibility to allow for longer intervals between
message production and consumption.

Reference: https://aws.amazon.com/sqs/faqgs/

NEW QUESTION 12
Regarding Amazon SWF, the coordination logic in a workflow is contained in a software program called a

A. Handler
B. Decider
C. Cordinator
D. Worker

Answer: B

Explanation:

In Amazon SWF, the coordination logic in a workflow is contained in a software program called a decider. The decider schedules actMty tasks, provides input data
to the actMty workers, processes events that arrive while the workflow is in progress, and ultimately ends (or closes) the workflow when the objective has been
completed.

Reference: http://docs.aws.amazon.com/amazonswf/latest/developerguide/swf-dg-intro-to-swf.html

NEW QUESTION 16
Is there a limit to how much throughput you can get out of a single table in DynamoDB?

A. Yes, not more than 1,000 writes/second or 1,000 reads/second

B. No

C. Yes, not more than 10,000 writes/second or 10,000 reads/second

D. No, but If you wish to exceed throughput rates of 10,000 writes/second or 10,000 reads/second, you must first contact AWS.

Answer: D

Explanation:

In DynamoDB, you can increase the throughput you have provisioned for your table using UpdateTable API or in the AWS Management Console. If you wish to
exceed throughput rates of 10,000 writes/second or 10,000 reads/second, you must first contact AWS.

Reference: http://aws.amazon.com/dynamodb/

NEW QUESTION 20
An account owner has created an IAM user with the name examkiller. The account owner wants to give EC2 access of only the US West region to that IAM user.
How can the owner configure this?

A. While creating a policy provide the region as a part of the resources
B. Create an IAM user in the US West region and give access to EC2
C. Create an IAM policy and define the region in the condition

D. It is not possible to provide access based on the region

Answer: C

Explanation:
The IAM policy is never region specific. If the user wants to configure the region specific setting, he needs to provide conditions as part of the policy.
Reference: http://awspolicygen.s3.amazonaws.com/policygen.htmi

NEW QUESTION 25
In DynamoDB, the default table size is:

A.5GB

B.1GB

C.10GB

D. There is no table size

Answer: D
Explanation:
DynamoDB has seamless scalability with no table size limits and unlimited storage, so you shouldn't be worried about managing storage on the host or to

provisioning more drive, as your data requirement changes.
Reference: http://aws.amazon.com/dynamodb/

NEW QUESTION 30
When you use the AWS Elastic Beanstalk console to deploy a new application you'll need to upload a source bundle and it should .
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A. Consist of a single .zip file

B. Consist of a single .war file

C. Consist of a single .zip file or .war file
D. Consist of a folder with all files

Answer: C

Explanation:

When you use the AWS Elastic Beanstalk console to deploy a new application or an application version, you'll need to upload a source bundle. Your source
bundle must meet the following requirements: Consist of a single .zip file or .war file

Not exceed 512 MB

Not include a parent folder or top-level directory (subdirectories are fine) Reference:
http://docs.aws.amazon.com/elasticbeanstalk/latest/dg/using-features.deployment.source.htmi

NEW QUESTION 31
How does Amazon SQS allow multiple readers to access the same message queue without losing messages or processing them many times?

A. By identifying a user by his unique id

B. By using unigue cryptography

C. Amazon SQS queue has a configurable visibility timeout.
D. Multiple readers can't access the same message queue

Answer: C

Explanation:

Every Amazon SQS queue has a configurable visibility timeout. For the designated amount of time after a message is read from a queue, it will not be visible to
any other reader. As long as the amount of time that it takes to process the message is less than the visibility timeout, every message will be processed and
deleted. In the event that the component processing the message fails or becomes unavailable, the message will again become visible to any component reading
the queue once the visibility timeout ends. This allows you to have many components all reading messages from the same queue, with each working to process
different messages.

Reference: https://aws.amazon.com/sqs/fags/

NEW QUESTION 35
In DynamoDB, a secondary index is a data structure that contains a subset of attributes from a table, along with an alternate key to support operations.

A. None of the above
B. Both

C. Query

D. Scan

Answer: C

Explanation:
In DynamoDB, a secondary index is a data structure that contains a subset of attributes from a table, along with an alternate key to support Query operations.
Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/Secondarylndexes.htmi

NEW QUESTION 40
What does Amazon SQS provide?

A. An asynchronous message queue service.

B. A Simple Query Sewer, managed directly by Amazon Web Services.
C. None of these.

D. A synchronous message queue service.

Answer: A

Explanation:

Amazon SQS stands for Simple Queue Services, and provides a cost-effective way to decouple the components of your application through an asynchronous
message queue service

Reference: http://aws.amazon.com/sqgs/

NEW QUESTION 41
A user is planning to host a mobile game on EC2 which sends notifications to active users on either high score or the addition of new features. The user should get
this notification when he is online on his mobile device. Which of the below mentioned AWS services can help achieve this functionality?

A. AWS Simple Notification Service.

B. AWS Simple Queue Service.

C. AWS Mobile Communication Service.
D. AWS Simple Email Servic

Answer: A
Explanation:
Amazon Simple Notification Service (Amazon SNS) is a fast, filexible, and fully managed push messaging service. Amazon SNS makes it simple and cost-effective

to push to mobile devices, such as iPhone, iPad, Android, Kindle Fire, and internet connected smart devices, as well as pushing to other distributed services.
Reference: http://aws.amazon.com/sns
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NEW QUESTION 43
In regards to Amazon SQS how many times will you receive each message?

A. At least twice
B. Exactly once
C. As many times as you want
D. At least once

Answer: D

Explanation:

Amazon SQS is engineered to provide "at least once" delivery of all messages in its queues. Although most of the time, each message will be delivered to your
application exactly once, you should design your system so that processing a message more than once does not create any errors or inconsistencies. Reference:
https://aws.amazon.com/sqs/faqs/

NEW QUESTION 48
A user is enabling logging on a particular bucket. Which of the below mentioned options may be best suitable to allow access to the log bucket?

A. Create an IAM policy and allow log access

B. It is not possible to enable logging on the S3 bucket

C. Create an IAM Role which has access to the log bucket
D. Provide ACL for the logging group

Answer: D

Explanation:

The only recommended use case for the S3 bucket ACL is to grant the write permission to the Amazon S3 Log Delivery group to write access log objects to the
user’s bucket.

Reference: http://docs.aws.amazon.com/AmazonS3/latest/dev/access-policy-alternatives-guidelines.html

NEW QUESTION 51
A user is running a webserver on EC2. The user wants to receive the SMS when the EC2 instance utilization is above the threshold limit. Which AWS services
should the user configure in this case?

A. AWS CloudWatch + AWS SES.
B. AWS CloudWatch + AWS SNS.
C. AWS CloudWatch + AWS SQS.
D. AWS EC2 + AWS Cloudwatc

Answer: B

Explanation:

Amazon SNS makes it simple and cost-effective to push to mobile devices, such as iPhone, iPad, Android, Kindle Fire, and internet connected smart devices, as
well as pushing to other distributed services. In this case, the user can configure that Cloudwatch sends an alarm on when the threshold is crossed to SNS which
will trigger an SMS.

Reference: http://aws.amazon.com/sns/

NEW QUESTION 56
Is it possible to create an S3 bucket accessible only by a certain IAM user, using policies in a CloudFormation template?

A. No, you can only create the S3 bucket but not the IAM user.

B. S3 is not supported by CloudFormation.

C. Yes, all these resources can be created using a CloudFormation template

D. No, in the same template you can only create the S3 bucket and the realtive polic

Answer: C

Explanation:

With AWS ldentity and Access Management (IAM), you can create 1AM users to control who has access to which resources in your AWS account. You can use
IAM with AWS CloudFormation to control what AWS CloudFormation actions users can perform, such as view stack templates, create stacks, or delete stacks.
In addition to AWS CloudFormation actions, you can manage what AWS services and resources are available to each user.

NEW QUESTION 61
A user has launched an RDS instance. The user has created 3 databases on the same server. What can the maximum size be for each database?

A. The size of each DB cannot be more than 3 TB

B. It is not possible to have more than one DB on a single instance
C. The total instance storage size cannot be more than 3 TB

D. The size of each DB cannot be more than 1 TB

Answer: C
Explanation:
The AWS RDS DB instance is an isolated DB environment provided by AWS in which the user can create more than 1 database. The maximum size ofthe

instance should be between 5 GB and 3 TB. The size of each DB can be anything in this range.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy DVA-C01 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/DVA-C01/ (116 New Questions)

NEW QUESTION 66
A user is creating a new EBS volume from an existing snapshot. The snapshot size shows 10 GB. Can the user create a volume of 30 GB from that snapshot?

A. Provided the original volume has set the change size attribute to true
B. Yes

C. Provided the snapshot has the modify size attribute set as true

D. No

Answer: B

Explanation:

A user can always create a new EBS volume of a higher size than the original snapshot size. The user cannot create a volume of a lower size. When the new
volume is created the size in the instance will be shown as the original size. The user needs to change the size of the device with resize2fs or other OS specific
commands.

Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/ebs-expand-volume.htmi

NEW QUESTION 67
can be used to bootstrap both the Chef Server and Chef Client software on your EC2 instances.

A. AWS CloudFormation
B. AWS Elastic Beanstalk
C. AWS OpsWorks

D. Amazon Glacier

Answer: A

Explanation:
AWS CloudFormation can be used to bootstrap both the Chef Server and Chef Client software on your EC2 instances.
Reference: http://aws.amazon.com/c|oudformation/faqs/

NEW QUESTION 68
You cannot access your AWS console, so you revert to using the CLI that you are not familiar with. Which of the following commands is not a valid CLI command
for EC2 instances?

A. ec2-allocate-address

B. ec2-attach-internet-gateway
C. ec2-associate-route-table
D. ec2-allocate-interface

Answer: D

Explanation:

You can use the CLI tools to manage your Amazon EC2 resources (such as instances, security groups, and volumes) and your Amazon VPC resources (such as
VPCs, subnets, route tables, and Internet gateways). Before you can start using the tools, you must download and configure them.

The following are valid CLI commands for EC2 instances: ec2-accept-vpc-peering-connection

ec2-allocate-address

ec2-assign-private-ip-addresses ec2-associate-address

ec2-associate-dhcp-options ec2-associate-route-table

ec2-attach-internet-gateway

ec2-attach-network-interface (not ec2-allocate-interface) Reference:
http://docs.aws.amazon.com/AWSEC2/latest/CommandLineReference/command-reference.html

NEW QUESTION 71
When you register an actMty in Amazon SWF, you provide the following information, except:

A. aname

B. timeout values
C. adomain

D. version

Answer: C

Explanation:

When designing an Amazon SWF workflow, you precisely define each of the required actMties. You then register each actMty with Amazon SWF as an actMty
type. When you register the actMty, you provide information such as a name and version, and some timeout values based on how long you expect the actMty to
take.

Reference: http://docs.aws.amazon.com/amazonswf/latest/developerguide/swf-dg-intro-to-swf.html

NEW QUESTION 74
A user is planning to use EBS for his DB requirement. The user already has an EC2 instance running in the VPC private subnet. How can the user attach the EBS
volume to a running instance?

A. The user must create EBS within the same VPC and then attach it to a running instance.

B. The user can create EBS in the same zone as the subnet of instance and attach that EBS to instance.
C. Itis not possible to attach an EBS to an instance running in VPC until the instance is stopped.

D. The user can specify the same subnet while creating EBS and then attach it to a running instanc

Answer: B
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Explanation:

A Virtual Private Cloud (VPC) is a virtual network dedicated to the user's AWS account. The user can create subnets as per the requirement within a VPC. The
VPC is always specific to a region. The user can create a VPC which can span multiple Availability Zones by adding one or more subnets in each Availability Zone.
The instance launched will always be in the same availability zone of the respective subnet. When creating an EBS the user cannot specify the subnet or VPC.
However, the user must create the EBS in the same zone as the instance so that it can attach the EBS volume to the running instance.

Reference: http://docs.aws.amazon.com/AmazonVPC/latest/UserGuide/VPC_Subnets.htm|#VPCSubnet

NEW QUESTION 78
You are using Amazon SQS and are getting a "Queue Deleted Recently" error. What is wrong?

A. The message is too big

B. You have incorrect permissions

C. Another user has deleted the queue

D. If you delete a queue, you need to wait for at least 60 seconds before creating a queue with the same name

Answer: D

Explanation:

If you delete a queue, you need to wait for at least 60 seconds before creating a queue with the same name. Please note that when you delete a queue, the
deletion process takes up to 60 seconds. Requests you send to a recently deleted queue might succeed during the 60-second period. For example, a
SendlVlessage request might succeed, but after 60 seconds the queue and that message you sent no longer exists.

Reference: https://aws.amazon.com/items/1343?external| D=1343

NEW QUESTION 81
What is the maximum number of tags that a user can assign to an EC2 instance?

0
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5
Answer: B

Explanation:

To help manage EC2 instances as well as their usage in a better way, the user can tag the instances. The tags are metadata assigned by the user which consists
of a key and a value. One resource can have a maximum of 10 tags.

Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/Using_Tags.html

NEW QUESTION 82
A user has enabled serverside encryption with S3. The user downloads the encrypted object from S3. How can the user decrypt it?

A. S3 does not support server side encryption

B. S3 provides a server side key to decrypt the object

C. The user needs to decrypt the object using their own private key
D. S3 manages encryption and decryption automatically

Answer: D

Explanation:

If the user is using the server-side encryption feature, Amazon S3 encrypts the object data before saving it on disks in its data centres and decrypts it when the
user downloads the objects. Thus, the user is free from the tasks of managing encryption, encryption keys, and related tools.

Reference: http://docs.aws.amazon.com/AmazonS3/latest/dev/UsingEncryption.html

NEW QUESTION 87
Which of the following solutions is not supported by DynamoDB:

A. Hash secondary index
B. Local secondary index
C. Hash Primary Key

D. Global secondary index

Answer: A

Explanation:

In DynamoDB, a secondary index is a data structure that contains a subset of attributes from a table, along with an alternate key to support Query operations.
DynamoDB supports the following two types of secondary indexes:

Local secondary index is an index that has the same hash key as the table, but a different range key. A local secondary index is "local" in the sense that every
partition of a local secondary index is scoped to a table partition that has the same hash key.

Global secondary index is an index with a hash and range key that can be different from those on the table. A global secondary index is considered "global”
because queries on the index can span all of the data in a table, across all partitions.

Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/DataModel.html

NEW QUESTION 92

An orgAMzation has created an application which is hosted on the AWS EC2 instance. The application stores images to S3 when the end user uploads to it. The
orgAMzation does not want to store the AWS secure credentials required to access the S3 inside the instance. Which of the below mentioned options is a possible
solution to avoid any security threat?

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy DVA-C01 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/DVA-C01/ (116 New Questions)

A. Use the IAM role and assign it to the instance.

B. Since the application is hosted on EC2, it does not need credentials to access S3.

C. Use the X.509 certificates instead of the access and the secret access keys.

D. Use the IAM based single sign between the AWS resources and the orgAMzation applicatio

Answer: A

Explanation:
The AWS IAM role uses temporary security credentials to access AWS services. Once the role is assigned to an instance, it will not need any security credentials
to be stored on the instance. Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/iam-roles-for-amazon-ec2.html

NEW QUESTION 94
The AWS console for DynamoDB enables you to do all the following operations, except:

A. Set up alarms to monitor your table's capacity usage.

B. Create, update, and delete tables.

C. Import Data from other databases or from files.

D. View your table's top monitoring metrics on real-time graphs from CloudWatc

Answer: C

Explanation:
The AWS console for DynamoDB enables you to do all the above operation but not Importing Data from other databases or from files and it is not possible to do it.
Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/ConsoleDynamoDB.html

NEW QUESTION 97
A user is uploading archives to Glacier. The user is trying to understand key Glacier resources. Which of the below mentioned options is not a Glacier resource?

A. Notification configuration
B. Archive ID

C. Job

D. Archive

Answer: B

Explanation:

AWS Glacier has four resources. Vault and Archives are core data model concepts. Job is required to initiate download of archive. The notification configuration is
required to send user notification when archive is available for download.

Reference: http://docs.aws.amazon.com/amazonglacier/latest/dev/amazon-glacier-data-model.html

NEW QUESTION 98
How can you peek at a message in Amazon SQS?

A. Log the message ID and the receipt handle for your messages and correlate them to confirm when a message has been received and deleted
B. Send the message to Amazon S3

C. You can't

D. Set up a CloudWatch alarm to auto send you the message

Answer: A

Explanation:

With version 2008-01-01, the PeekMessage action has been removed from Amazon SQS. This functionality was used mainly to debug small systems — specifically
to confirm a message was successfully sent to the queue or deleted from the queue.

To do this with version 2008-01-01, you can log the message ID and the receipt handle for your messages and correlate them to confirm when a message has
been received and deleted. Reference: https://aws.amazon.com/items/1343?external|D=1343

NEW QUESTION 102
An orgAMzation has created 10 IAM users. The orgAMzation wants those users to work independently and access AWS. Which of the below mentioned options is
not a possible solution?

A. Create the access key and secret access key for each user and provide access to AWS using the console
B. Create the X.509 certificate for each user and provide them access to AWS CLI

C. Enable MFA for each IAM user and assign them the virtual MFA device to access the console

D. Provide each user with the IAM login and password for the AWS console

Answer: A

Explanation:

If an orgAMzation has created the IAM users, the users can access AWS services either with an IAM specific login/password or console. The orgAMzation can
generate the IAM X.509 certificates to access AWS with CLI. The orgAMzation can also enable MFA for each IAM user, which allows an added security for each
IAM user. If the orgAMzation has created the access key and secret key than the user cannot access the console using those keys. Access key and secret access
key are useful for CLI or

Webservices.

Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/IAM_Introduction.htm|

NEW QUESTION 104
What is the maximum size for messages stored in SQS?
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A. 256KB
B. 128KB
C. 1024KB
D. 64KB

Answer: A

Explanation:

By default, SQS queues allow you to send the largest supported payload size, currently 256KB. You can choose to specify a limit on how many bytes can be sent
per payload, using the IVIaximumlVlessageSize attribute of the SetQueueAttributes method.

Reference: http://aws.amazon.com/sqs/faqs/

NEW QUESTION 105
A user has configured a website and launched it using the Apache web server on port 80. The user is using ELB with the EC2 instances for Load Balancing. What
should the user do to ensure that the EC2 instances accept requests only from ELB?

A. Open the port for an ELB static IP in the EC2 security group

B. Configure the security group of EC2, which allows access to the ELB source security group
C. Configure the EC2 instance so that it only listens on the ELB port

D. Configure the security group of EC2, which allows access only to the ELB listener

Answer: B

Explanation:

When a user is configuring ELB and registering the EC2 instances with it, ELB will create a source security group. If the user wants to allow traffic only from ELB,
he should remove all the rules set for the other requests and open the port only for the ELB source security group.

Reference:

http://docs.aws.amazon.com/ElasticLoadBalancing/latest/DeveloperGuide/using-elb-security-groups.html

NEW QUESTION 109
A user is having access to objects of an S3 bucket which is not owned by him. If he is trying to set the objects of that bucket public, which of the below mentioned
options may be a right fit for this action?

A. Make the bucket public with full access
B. Define the policy for the bucket

C. Provide ACL on the object

D. Create an IAM user with permission

Answer: C

Explanation:

An S3 object ACL is the only way to manage access to objects which are not owned by the bucket owner. An AWS account that owns the bucket can grant another
AWS account permission to upload objects. The bucket owner does not own these objects. The AWS account that created the object must grant permissions using
object ACLs.

Reference: http://docs.aws.amazon.com/AmazonS3/latest/dev/access-policy-alternatives-guidelines.html

NEW QUESTION 114
Which of the following programming languages have an officially supported AWS SDK? Choose 2 answers

A. Perl

B. PHP
C. Pascal
D. Java
E. SQL

Answer: BD

NEW QUESTION 119
How can you secure data at rest on an EBS volume?

A. Attach the volume to an instance using EC2's SSL interface.

B. Write the data randomly instead of sequentially.

C. Use an encrypted file system on top of the BBS volume.

D. Encrypt the volume using the S3 server-side encryption service.

E. Create an IAM policy that restricts read and write access to the volum

Answer: C

NEW QUESTION 120

Which of the following are correct statements with policy evaluation logic in AWS Identity and Access Management? Choose 2 answers
A. By default, all requests are denied

B. An explicit allow overrides an explicit deny

C. An explicit allow overrides default deny.

D. An explicit deny does not override an explicit allow

E. By default, all request are allowed

Answer:
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NEW QUESTION 122

You are providing AWS consulting services for a company developing a new mobile application that will be leveraging Amazon SNS Mobile Push for push
notifications. In order to send direct notification messages to indMdual devices each device registration identifier or token needs to be registered with SNS;
however the developers are not sure of the best way to do this.

You advise them to:

A. Bulk upload the device tokens contained in a CSV file via the AWS Management Console.
B. Let the push notification service (e.

C. Amazon Device Messaging) handle the registration.

D. Implement a token vending service to handle the registration.

E. Call the CreatePlatformEndPoint API function to register multiple device token

Answer: B

NEW QUESTION 126
How can software determine the public and private IP addresses of the Amazon EC2 instance that it is running on?

A. Query the appropriate Amazon CloudWatch metric.
B. Use ipconfig or ifconfig command.

C. Query the local instance userdata.

D. Query the local instance metadat

Answer: D

NEW QUESTION 129
An Amazon S3 bucket, "myawsbucket" is configured with website hosting in Tokyo region, what is the region-specific website endpoint?

A. www.myawsbucket.ap-northeast-1.amazonaws.com

B. myawsbucket.s3-website-ap-northeast-l.amazonawscom
C. myawsbucket.amazonaws.com

D. myawsbucket.tokyo.amazonaws.com

Answer: B

NEW QUESTION 130
Which of the following services are included at no additional cost with the use of the AWS platform? Choose 2 answers

A. Simple Storage Service
B. Elastic Compute Cloud
C. Auto Scaling

D. Elastic Load Balancing
E. CloudFormation

F. Simple Workflow Service

Answer: CE

NEW QUESTION 132

A corporate web application is deployed within an Amazon VPC, and is connected to the corporate data center via IPSec VPN. The application must authenticate
against the on-premise LDAP server. Once authenticated, logged-in users can only access an S3 keyspace specific to the user.

Which two approaches can satisfy the objectives? Choose 2 answers

A. The application authenticates against LDA

B. The application then calls the IAM Security Service to login to IAM using the LDAP credential

C. The application can use the 1AM temporary credentials to access the appropriate S3 bucket.

D. The application authenticates against LDAP, and retrieves the name of an IAM role associated with the use

E. The application then calls the IAM Security Token Service to assume that IAM Rol

F. The application can use the temporary credentials to access the appropriate S3 bucket.

G. The application authenticates against IAM Security Token Service using the LDAP credential

H. The application uses those temporary AWS security credentials to access the appropriate S3 bucket.

I. Develop an identity broker which authenticates against LDAP, and then calls IAM Security Token Service to get IAM federated user credential
J. The application calls the identity broker to get IAM federated user credentials with access to the appropriate S3 bucket.

K. Develop an identity broker which authenticates against IAM Security Token Service to assume an IAM Role to get temporary AWS security credential
L. The application calls the identity broker to get AWS temporary security credentials with access to the appropriate S3 bucket.

Answer: BD

NEW QUESTION 137
If an application is storing hourly log files from thousands of instances from a high traffic web site, which naming scheme would give optimal performance on S3?

A. Sequential

B. instancelD_log-HH-DD-NIM-YYYY
C. instancelD_log-YYYY-NIM-DD-HH
D. HH-DD-NINI-YYYY-log_instancelD
E. YYYY-MM-DD-HH-|og_instance|D
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Answer: E

NEW QUESTION 142

You run an ad-supported photo sharing website using S3 to serve photos to visitors of your site. At some point you find out that other sites have been linking to the
photos on your site, causing loss to your business.
What is an effective method to mitigate this?

A. Store photos on an EBS volume ofthe web server

B. Remove public read access and use signed URLs with expiry dates.
C. Use C|oudFront distributions for static content.

D. Block the IPs of the offending websites in Security Group

Answer: B

NEW QUESTION 144
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